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Kristian Giesen and Christian Schwarz1

Trade, Wages, FDI and Productivity

Abstract

We extend the Behrens et al. (2009) general equilibrium heterogeneous fi rms framework 
by horizontal foreign direct investment. The model features endogenously determined 
fi rm entrants, wages, productivity cutoff s, fl exible price markups and allows for wage 
diff erentials across countries in equilibrium. The framework is especially suitable to 
analyze the welfare consequences of attracting FDI since it allows to study through 
which channels FDI might raise welfare - including the not yet explored impact on 
the wage diff erential and the price markups. From a policy perspective we compare a 
strategic and a cooperative FDI policy scenario and fi nd that supranational coordination 
leads to welfare gains.

JEL Classifi cation: F12, F23
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 ���� ����
��������
���
����� �
�� �
� 
�
� �����
 ��� �����
 
���� ����
��� �����
 ����� ����� ��� ������ ��
� �������
��
 
�
��
� ,�
���
��
� �������������� �
� �� ���
��� ���� ��
� �
�������� ���� ����
���� �
���
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����
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���� ���������� ����� �� 
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�� �� 

�� ��,����� ���� 
 ����
���� ������������ !��� "#$$%&

���� ��� ������� ����������� 
���	 ��������� ��� ��� ���
� �� ����� �� ��
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�� ������� 
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��	�� 
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���� ��
����  � 
 ����
�� ��� 
����
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���� �� ����
�
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��� ���� �������
�����

��� �
��� �� ��	
����� 
� ��

���� (������ # ���
�
����� ��� ����
 ��
������ ���
�

�� (������ . �� ������� ��� ���
��	�� 
�� ��� ������
���� ��� ��
��� ��	���� (������ /

����
�����

� ��� �����

��� ��������	�
 ��� ��
���

�� ��� ����
� �� �������� ��� �������


� 
��������� ���������� !�������� ������ ���
���

���� ��� ����������� �� 
 -�

 	��� ����� �� �������� 
� 
 ��������� �� ��������


�

��,������
��� �
�������� ��� �
�� �� ��������� �� ������� r �� ������� �� Lr� 0�� psr (i)


�� qsr (i) ������ ��� ����� 
�� ��� ��� �
���
 ����������� �� �
����� i ���� �� �� ��������

�� ������� s 
�� �������� �� ������� r� �� ��� ��

����	 �� ��,������
�� ������� �����

����� �� -���1 �������� -��� ��
� ��
�
� ������� ��� ����� �������� �
����� �2�������

��
� 
�������


� ��

 �� ��� �����	� �
���� 
�� ��� ��
���
����

�� �� 
���� ���������

�� ���� ��
� ���� ������� �� ����������� �
������� �� ������� r� ���� �������� 
�� ���

-��� ������� �� ������� r 
�� ��

 �� ������� r ���
� �2���� �
������� 
�� �������� ��

s 
�� �������� �� r� 3����� ��� ��� �
���
 ����������� �� ������� r �� 
 �������� ��

��� �
����� i �� ������� �� qrr (i) ���
� ��� 
� �2���� �
����� i ��� �
���
 ����������� ��

������� �� qsr (i)� (���

� ��� ����� �� 
 �
����� i �� ������� r �� ������� �� prr (i) �� �� ��

�������� �� 
 �������� �� ��� -�� ���
� ��� ����� �� 
� �2���� �
����� i ���� ������� s

�� 	���� �� psr (i)�

��� �����
���	 ���������� ���������� ���
�
����� �� 4������ 
�� +��
�
 "#$$5&� ����

�

�� 
���������
����� 
�� �� ��� �
�� ��� 
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�� �������	� 
� �����	� r 
� 

��� ��

max
qsr(j),j∈Ωsr

Ur ≡
∑
s

∫
Ωsr

[
1− �−αqsr(j)

]
�j ����

∑
s

∫
Ωsr

psr(j)qsr(j)�j = Er, ���

���	� Er ������� ������
��	�� α > 0 
� � ��	�����	 �����	
�
 ��� ��	��
�� �� �������	�

��	
��� ��� Ωsr ������� ��� ��� �� ��	
��
�� �	������ 
� �����	� s ��� �������� 
� �����	�

r� ��� �����
�� �� ��� ���
�
���
�� �	����� 

��� 
� ��� �
���� ��� ������
�
 ������

�����
���

qsr(i) =
Er

N c
r p̄r

− 1

α

{
ln

[
psr(i)

N c
rpr

]
+ hr

}
, ∀i ∈ Ωsr, ���

���	� N c
r 
� ��� ���� �� �������� ��	
��
�� 
� �����	� r� ���

pr ≡
1

N c
r

∑
s

∫
Ωsr

psr(j)�j ��� hr ≡ −
∑
s

∫
Ωsr

ln

[
psr(i)

N c
rpsr

]
psr(j)

N c
r p̄sr

�j � �

������ ��� ���	�
� �	
�� ��� ��� �
!�	���
�� ���	��� �� ��� �	
�� �
��	
���
�� �� ��� ��	
��
��

�������� 
� �����	� r� "
�� ��� ���� �� ��� ��� � � �� ��� ��	
�� ��� �����	� ����
#�

	���	���
�� �	
�� pdr � ��� ������ ��	 ��	
��� i 
� �����	� r �
�� �� ���
�
�� 
� ��� ���� 
�

��� �	
�� �� ��� 	������
�� ��	
��� 
� ����	 ���� ��
� 	���	���
�� �	
��� �� �����	 ������	

��� ��	
��� 
� �	������ �� � ������
� #	�� � ��	�

� $%& #	� �	 
� ����	��� �	�� ��	����

$�	������

qrr (i) > 0 ⇔ prr (i) < pdr ��� qsr (j) > 0 ⇔ psr (j) < pdr , �'�

���	� ��� 	���	���
�� �	
��

pdr ≡ N c
rpr�

αEr/(Nc
r p̄r)−hr �(�


� � �����
�� �� ��� �	
�� �

	�
���� pr ��� hr� )�
�
 ��� ��� �(�� ��� ������� ��� ��

���	����� �� �������

qrr(i) =
1

α
ln

[
pdr

prr(i)

]
��� qsr(j) =

1

α
ln

[
pdr

psr(i)

]
. �*�

��� �	
�� �����
�
�� �� ������ ��	 � ��	
��� i� ��	
��� �	�� �*�� 
� 

��� �� 1/ [αqrr (i)] ���

1/ [αqsr (i)]� 	������
����� +����� 
� 
��
�
����� ������� ��	� �� ��� ��	
��� ���
�� 
� ��
�

��� ���� 
� ���
	 ������
��	� 
��	������� ���� ������ ���� �	
�� ����
�
��� "
�� ��� ����

�� �*�� ��� ��
�
�� �����
�� 
� ��� �
���
#�� ��
�
 �αqsr(i) = psr (i) /p
d
r ��� �� ��� 	��	
��

,



�������� ���	��
 ��

Ur = N c
r −

∑
s

∫
Ωsr

psr (j)

pdr
�j = N c

r

(
1− pr

pdr

)
. 
��

��� ������	�
� ��
 ������ ���������

�� ��� ��� ����� ���� �������� �������� ��� ������ ���	 ���� ������
� ��� ��	
 ������

���� ��� ���������� �� 	����� ���� ���� �������� ����	
��� ��� ���� �� 	����� ��� ����	

	���� ����� �� ������
 r �� ��������� ����� �
 ��� ������
 ���� Lr� ��� 	���� ��� �� ��

������� �� �� ������������� �
 ������� ����������� ���� ���� ���� �� ������
 r �� � ���

���� wr �� ������ !� ����� �� �������� � ������� ������
� ���� ������ ��� ������
"� �������

�#�� ����� Fr ��� �������� ��� ����	������ 
$%&� ���� �� 	���� �� ��� ��� �� �����

���� ���������� ����	�� ��� ��� �� �������� ��� ������ ������
 �	��� ���� ��� ���� �������

�������	 	���� ����������� m (i) ≥ 0� ����� � 	���� m (i) ��'���� � ������ �����������
�

���� �����������
 �� ����� ���� � ������
(������� ������������ Gr� )������ ������� ���

�������� ��� ��� ��� ��� ��
 ������ �� ����� ��� ������� ��� �� ������ �
 �#������� ��

�������	� *&!� +� ��		 �� ������ ��� �������� ������� ��� ��� �� ����� ��� ������� ��� ��

������� �� � ���"� �����������
 ����� ,#����� ���� ������
 s �� r ��� ���-��� �� �������

�
�� ����� ����� τsr > 1� ����� ����� �� ����� �� 	����� .������ �� � ��� ���������� �	���

�� ��� ������� ������
 r �� ������� �� �������� ��� �#�� ����� �� ���������� �
 Pr� /�����

�� �� �� ��������� �� 	����� �� ��� 	��������� ��� �	������	 0���#����
(�������������1 �����(�2

�������3 *&! ����� ������	� ����� ������ ���	� �#������� ����� ���������	 �������� �����

��� ���	���� �� � ������� ���������� �	����

!� ��� ����	� ����� ��� ����� ������	� ������� ��� ��������� ������� *����� ��� ���������

������ �� ��� i ���������� �� ������
 s ���� �������� ��	�� ��� ����� �


πD
s (i) = Lsqss (i) [pss (i)− τssm (i)ws] . 
4�

.������ ��� ��������� ������ ���� �#������� �� ������
 r ��� ����� �


πX
s (i) = Lrqsr (i) [psr (i)− τsrm (i)ws] . 
5�

������ ��� ��������� ������ ��� ����� *&! �� ������
 r ��� ����� �


πF
s (i) = Lrqrr (i) [prr (i)− τrrm (i)wr]−m (i)wrPr. 
67�
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����� qss (i)� qsr (i) ��� qrr (i) 	� �
���	
�� �������� ��� �	��� �� ���� �
�� ���� 	� 
��

����	����	
� � ! "�#��$ �
��� �������� 	� � ��%&� ��
����	�	�� '���'� (� �
 �
 �
 �
���

�����	' ��� )��� ���� ��� %
�� ��
����	�� �#�
����� ���� *��
 %���	��' �
��� 	� ��� '	%	��

+�	� 	%�'	�� ���� �'�
 ��� 	������ ���� ����� �
��� ���	�� 	� ��� '	%	�� +
 ��'���� ��	�

���	)��� 
) 	������ ���� ����� �
���� �� ����%� �#�� � ! �
��� ��������� 
� ��� %���	��'

'��
� ��
�	��%��� �� �	��� �� ����� ,
��� ��� ���	��'� ����� �
��� ��� ��� �#�� � ! �
���

�
� �������� �	�� � '
��� %���	��' '��
� ��
�	��%���� (	�� ��	� ����%��	
�� ��� %
��'

�#�	�	�� ��� "�'���	��'$ ���-	�� ���� ��� %
�� ��
����	�� ��%� ��� � ! ��	'� ��� %��	�%

��
����	�� ��%� �#�
�� �
 )
��	�� %��-�����

(� ����%� ���%����� %��-��� �	��
�� ��� �
��	�	'	�� 
) ���	����� 
� ����'�� .�����

��%� %�#	%	*� ��
��� �	�� ������� �
 ���	� ��	�� psr (i) ��������'� )
� ���� %��-��� ��-	��

	��
 ���
��� ��� ��%��� )����	
� �� �	��� �� ���� +�� �
��	���% 
) ��%� ��-�� ���

��������	
� ��	�� pdr �� �	��� ��� ��� �����
���� �
��	�	
� )
� �
�����	��� ��
��� ���

ln

[
pdr

psr (i)

]
=

psr − τsrm (i)ws

psr (i)
, i ∈ Ωsr. ����

/�	�� ���� �� ��� �
� ��
� �
� ��
����	�	�� %��� 	��
 ��� ��%&� ��	�� ����	��� ��'��

������� ��� ��
����

����� � ��� � ����	 
��� �
 ��� ������
��� �����
� ����� ���� ������
��� ���� ���

������ ����� ������� ���� ���� ������ ���	
�
��� �	� ����� ���	 ������ �����
�	� ����
� �	 ����

�����
�

����	
 /�	�� ��� 0�%���� W )����	
�� ������ �� ϕ = W (ϕ) �W (ϕ)� ��� �����
���� �
��	�

�	
� ���� ��� �� �
'��� )
� ��� ��
���%�#	%	*	�� ��	���� 
����	�	�� ��� 
�����	�� ��
����

+�
�� ��'��� ��� �� �#������� 	� ���%� 
) m� �� ��%� �	1�� 
�'� 	� ���	� %���	��' '��
�

��
�	��%����� �
� � ��% 
�	�	����� 	� �
����� s ���� ��� �	��� ��

pss (m) =
τssmws

WD
s

, qss (m) =
1

α

(
1−WD

s

)
, πD

s =
Lsτssmws

α

(
1−WD

s

)2
WD

s

, ��2�

��� ���� �����	 
 ���
 ��
����
� �
������� �� ��� ������ ����� �
 π̂F
s (i) =

Lrqrr (i) [prr (i)− τrrm (i)wr] − wrPr ���� ��
� ����� ���
�
��
�� �� ��
 ������������ �
�
�� ���
�
�	 ��
�
 ������
� ��
 ���� ���������
 ���� �
 �
� limm→0 π

X
s = Lrwrτrr

�α mD
r 	 limm→0 π̂

F
s = Lrwrτrr

�α mD
r −Prwr	

limm→0 π
F
s = Lrwrτrr

�α mD
r � �
��
	 ���� ��
 ��
����
� �
������� ��
 ���� ���������
 ���� ����� ��



�������� ����

� �� ���� �
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���( 
�� !��
��
�� "#$$)& ��
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��
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� 
�� "-%%.& ��� 
 ����
� ����
����� ��
 ����
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� �� ��
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��
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psr (m) =
τsrmws

WX
s

, qsr (m) =
1

α

(
1−WX

s

)
, πX

s =
Lrτsrmws

α

(
1−WX

s

)2
WX

s

, ����

prr (m) =
τrrmwr

W F
s

, qrr (m) =
1

α

(
1−W F

s

)
, πF

s =
Lrτrrmwr

α

(
1−W F

s

)2
W F

s

−mwrPr, ����

���	� �� 
���	�

�
 ��� �	������
 �� ��� �����	� W �������� �� �	
�	 �� ��������� �����

������ ��� �	������
 �	� ����� ��

WD
s = W

(
�τssmws

pds

)
, WX

s = W

(
�τsrmws

pdr

)
��
 W F

s = W

(
�τrrmwr

pdr

)
����

 ���� W ′ > 0! �� 	��
��� ������ ∂p/∂m > 0! ∂q/∂m < 0 ��
 ∂π/∂m < 0� �

"� ����	���� �

�� �� ��� ����	�������
 #	�
 ����	���	� �
 �� 
���	���� ��� 
�������
 ����$

�	�
�������� ��	 ���� ��	%��� " #	� ���� � ����	 �	�
�������� �
 ��� 	�
������� ����$

�	�
�������� ����
 
�� � �	��� ����� ��� 	�
�	������ �	��� ��
 ����
 ���	���	� ���� &�	�


����
� '����! 
�	���� ���
 ��	%�� �
 ��� �	�#������ �� 
�	��� ��� ����$ �	�
�������� ��

���
 ��� 
���
 (������� �� � #	�! ���
������� �� ��
 �	�
��������� )
��� �*� ��
 ���� ���


���
 (������� �
 ����� ��

qsr (i) = (1/α) [1− τsrm (i)ws/psr (i)] . ��*�

��� 
���
 (������� ����� �� ��*� ����
 �
 �� 
���	���� ��� ��+���� ������ �� � #	�! �����

�
 ����� �� qsr (i) = 1/α ��	 � #	� ���� ��� �����
� �	�
�������� 
	�� m = 0� ,���	�	�!

��� ����	 ����
 ��	 m �
 ����� �� ��� ������� ������ qsr (i) = 0 �� psr (i) = τsrm (i)ws�

-� ���� ������
 �	�� ���� ���� pdr = τsrm (i)ws�

.�	 
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k
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k
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P = 0.55 mT NE U
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